
1. Email *

2.

3.

4.

Mark only one oval.

Basic goods sector

Heavy goods sector

Services sector

Agriculture sector

5.

Mark only one oval.

Per capita GDP increased and per capita agricultural production declined

Per capita GDP increased and per capita agricultural production increased

Per capita GDP stagnated and per capita agricultural production declined

Per capita GDP decreased and per capita agricultural production declined

6.

Mark only one oval.

command and control model

greater marketization
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The Nehru-Mahalnobis strategy focused primarily on the

(Dreze & Sen, Ch 2) During 1965-6 to 1974-5,

The second phase of 1980-2015 is characterized by
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7.

Mark only one oval.

War with Pakistan

Droughts associated with rise in in�ation

Green Revolution

Acute foreign exchange crisis

8.

Mark only one oval.

Tendulkar de�nition

Rangarajan de�nition

9.

Check all that apply.

Expansionary �scal policy and foreign borrowing
Expansionary �scal policy and declining foreign borrowing
Expansionary monetary policy and foreign borrowing
Expansionary monetary policy and declining foreign borrowing

10.

Mark only one oval.

Increase in inequality

Decrease in inequality

No change

11.

Mark only one oval.

Tax cuts and increased revenue expenditure

Crowding out of the private sector

Increased industrial growth

Widened current account de�cit

Which of these is not  reason for slowdown in 1960s

In 2011-2012, headcount poverty ratio numbers are higher according to the

Which of these is the main cause of fast growth in 1980s? (Mark all the relevant correct options)

All-India Gini coefficient increased from 30% in 1993 to 36% in 2011, what does this imply

Which of these is not the reason for deceleration of growth in 2012-18 in India? 
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12.

Mark only one oval.

was slower than China & faster than ASEAN-10 countries

was slower than China & slower than ASEAN-10 countries

was faster than China & faster than ASEAN-10 countries

13.

Check all that apply.

Micro-credit initiatives
Increased role of women
Effective health initiatives with shortage of public resources
Redistribution programmes

14.

Mark only one oval.

True

False

15.

Mark only one oval.

True

False

16.

Mark only one oval.

True

False

In the post-reforms (1991) period, growth in India 

Which of these contributed for progress in living standards in Bangladesh? (Mark all the
correct options)

More than half of the population in Bihar lives below the Government of India's extremely low
poverty line in 2011.

Real wages in the organized manufacturing sector were 11% less in 2003-04 than 1995-6.

Share of organized sector in the country's total workforce has been increasing since 1990s.
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17.

Mark only one oval.

True

False

This content is neither created nor endorsed by Google.

Poverty rate(%) increased but absolute number of people living below poverty line decreased
marginally in the first 11 years of reforms (1991).
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